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+*,8 5/;01; /) 671 0,))<2,/8 2<33;122,/8 ,8 671 )*+,-. /) +/01-2 :,67 ,8@*;,*86
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����� �� �������� ����� !�"���# ����������#  ����� ��"���#��� $!�
��"% ������ ��� �� &�"&� �& ' ���(����� �  ��) * � �!�+��"���� ���
�!�! ���� ��"���#��$� �����!��! � �,�!���!��� �! �� ��� � �!� �*��
�-�$� �"�& �  ���*��# . � �� % ���� �$���'���#/ ��� ��� ��������& 
��� ��* � "0,�� ����'+����� �*� !� �&  !-(�) * � ������ ���!�! ���
�� �!��'1!0 �& � ����'0 �*����%) ���-�"%-' ������ ���(���& �� ���
,��-���*�� � ��!�����#� ��� ��"���#��� �����!���� � �� �-��� ��� �
���$�! �'+�� ����� .���) �!������) 23)4)56/� 7� ���� ��� ! ����'+���&
�!��'1!0 �& � ��*��!0 ���!��!� ��� -����� .��������� �/) * �) -!-
��!��"�) ������� � -��8� -��8�� - ����-�� �0 �!� �*��-�� �"��� ����
�����!���� � �����-������0  !- �!���!���$� 9$"�,!"%��$�9�!��!�

� �!��$� �!*!"! ,�"� &���) * � '�"���& �,�!���!��& $"�,!"%��$�
�!��! � �����(��� % ��::'��� �� ���# �����# �!� �*��-�# -������� � �
:!����� ���� �!�� �� �!���& ��  �"%-� � ��"�*���) �� � � $"!�-�� �
����'+���&� 7��"���00 '��,�� �!�!- ������! % �-���� %0 ',��!��&
;'�%�<!��"� '�� 
"& !�!"� �*��-�$� ����'+���& ',��!��� &�"&� �&
=-������8�!"%���� � = �� �"'*!� ���$�! �'+�� �'� ����$��!& ��"�*��!
����'+���& εtr � $"�,!"%�!& ��::'��& �����-!� "�1% ��� ε>∼εtr� 	�"�
(� ε<∼εtr)  � �!�� "�-!"����!� � � ���� �"%�� '�-�� �!� �*��-�� �"�&�
.-� ���� �,�!�'0 �& ��� "0,�� ε > 0/ � $"�,!"%�!& ��::'��& ���
*��"� � �����# ���,��� -������! ����# ��� ��� N ≤ 2 �������(�!�

>!�� ��) * � ��� N > 2 $"�,!"%�!& ��::'��& ��(� ��� % ���
� �) ��  �"%-� �"& ���%�! ���8�!"%��� �!*!"%��� '�"���# .��::'��&
����"%�!) ���) �!������) 236/� �-���� % = �# ��::'��� � ���! �� �,"!� �
��� ε → 0 ',��!0 =-������8�!"%�� �� �!�!�� �' 1/ε�

?!�!- �� ���(���& �'+�� ����� �����&� �& �"& $"!�-�$� ����'+��
��& $!��"% ���!�!) ;'�%�<!��"� '�� -� ���$� ',��!0 -!- ��-� ��!&
� ����% β+1 �� �����! n .���) �!������) 2@6 � ���"-�  !�/� � ���� �#1��
�"'*!� 4A�� �,�!(���&) -� ���� �� � �$�!��*���& � �!� �&+�# �!,��

5



 �) ����$ εtr > 0 �����-������& $"�,!"%��$� �!��! �'+�� �'� ���$�! ���
β > βcr = 3� B � ��!*���� -�� �*��-�# $"!�-�� � ��"'*��� �� ���� �#
�8��-� � 2@6 .���  !-(� �!���" 5 ��(�/) ���!-� ��� �+�  ��,'� ������-� �
*��"����� =-�������� !�� �!�-�"%-� �!� ����� ��) � ��$�� ��-!�! �"%�
� �� '�!"��% ��"'*� %  �"%-� �"& βcr = 5 .��� 2C6) $�� ,�"�  !-(� ���
�-!�!�� ������"�(����) * � �! �!��� ��"� βcr = 4/� � �!� �&+�# �!,� �
 !-!& ��������"����� % ���'+�� ����!) ���-�"%-' �"& �!���! ���!���#
�!�� ����"� .�!���" 4/ ���!���� �� β = 2 < βcr �!������ ����"�&� �&�
�� ������ � �� � %) * � ������ �"& = �$� ��-!�! �"& β = 2 �� '!8�&
��"$�� ����& �� !�!"!�% ��&���#�

�(� � �!���� *��"����� =-�������� !� � ��� ��!��) $"!�-�� % -��
 ���� ��(� -�� �*��-�# �!�&�' � $"�,!"%��# ��::'���# �!,"0�!"��%
�"'*!�) -�$�!  �!�- ���� �  �*���� ���%�! �"� �"%��$� ������� �*� !
�� ������"� �! �����"� ��-� ���# �$�!��*����# *!� � :!����$� ����
� �!�� �! 2D)E6� ���!-�) � � ,�"� �� ,�"�� *�� ���������� �! ���!�"����
�"� ��"!,"���� ��::'���� � ��$�# ���'"% ! ����% ,�" ��"'*�� F'"��
 �� 2G6) -� ���# �"& ����� ��*��$� -'��*���"���#��$� 4A�� �,�!(���&
.����) β = 2) ��� .4�3/) .4�4/ ��(�/ ��-!�!" �'+�� ���!��� $"�,!"%���
���!��!� ��� -����� -!- � ���!8���!"%����)  !- � � �!8���!"%����
*��"!�� ��!+���& .���  !-(� 23H6 � �!���" 4/� ������ $"�,!"%��� ���!�
��!� ��� -����� ���0 ��"�'0 ��� &(����� % �� :!��) * � ��-"0*!� 
���$�!��*���'0 ��::'��0 �� ��#� ��0� � �!,� � 2G6 ������� ,�"� �!#�
����) * � ����� ���!��!� ��� -����� � �!8���!"%���� *��"!�� ��!+��
��& ����' � �'0  !-(� .��� ���8�!"%��� ��!*���&� �!�!�� �! ����'�
+���&/ ���!��'1����� ���!�! ���� ��"���#��� �����!����� ���,����
�!(��� � ���(��!���� �-!�!"��%  �) * � ��� ��! ��� = �� � �0�% ��
� !���� �& �� �$���'���#) ���!-� ���!�! ���! ��  �"%-� ����!�&� �& �
'�"���&� ��"%��$� �!��!) �� � �!���!� $"�,!"%�'0 ��::'��0�

�� ������) * � ��!*� �"%�� ���(� � �"&  �# (� �!��# ����"� !�!"��
$�*�!&  �����! ,�"! ��-!�!�! ���&���-���� 2336� �� ��  �"%-� '-!�!"
�*� ��� ���(�� �� ��!*���# �!�!�� �!) ��� -� ���� ���!�! ���! 8�"�$�
�����!��! ����!�&� �&) �� � �!1�" �"& ��� &���� .� �*��% ���� ��/ ���!�
(����� ?� & ���&���-�� ��-!�!" ���0  �����' ���!������)  !-�� ����!�
����� ����"�# �� �"'*!#��) ���-�"%-' ��1���� "���#��$� .�� & ,� � -'�
��*��/ � �,�!(���& �'+�� ����� '���+!� �!�!*'� � �� ��) * � ��"���
��1���� �!(� "���#��$� � �,�!(���& �����(��  �"%-� ��� ����!�����
���!�! ����)  !- -!- � ��� ����� �"'*!� ��� �� �� �!�+��"����# ���!�
�! ���� �,�!�'0 �"'*!#���  �!�- ����� 7� = �# (� ���*��� ����"%
���� �� ��(� ,� % '���+��! �� *�� � "���#��$� � �,�!(���&  ��
�! � �,�!(���& ����"%�!) � -� ���� ���!�! ���� ��"���#��� �����!��

I



��� ���$�! �!�+��"���� J! ��! �*��-�� �!,� � F'"� ! � ���&���-��!
�$�!��*��� ��= ��' ���"����!����  �"%-� �!��� ���!��!� ��� -�����
����$�  ��!) ������ ������� -� ���� ,�"� �����-!�!�� � 23H6�

������  �����! ���&���-��! ���"'(�"! �"& �!�  �"*-�� - �� ���
������' ���"����!��0 ���� � �$� ����:�-!8�# 234�3@6� � ��(!"���0)
= !  �����! �� ,�"! ��',"�-��!�! !� ���� .�� ��"��#  �-� �����(� �
�& � ���"�(���� - �!,� � 23I6/� ���� � = �$� � 23C6 ,�"! ��������& !
���� -! �,�,+� %  �����' �! �������"%��� ��!*���& �!�!�� �! � �,�
�!(���&) * � � �,+�� �"'*!� ��� �����*� ���'"% ! !� �!,� � 2G6 �
�!1�� *��"����� =-�������� !��

�!(��# ���!��!� ��# -����# � ���� .�  �� *��"� ����$�  ��! �
�!8���!"%��� *��"�� ��!+���&) �-"0*!& ���!�! ���� 8�"�� � ���,�
��� �����!����/ � ��*!� ������"����� ��!*���� �!�!�� �! ����'+��
��&� J��(�� �� ����  !-�� *���" &�"&� �& -!� ������ .��� ����4)5 �
2G6/ � ���0 �& �� ���!"� ��!*���# �!�!�� �!) $�� $"�,!"%�!& ��::'�
��& ������"���� ���� ��� � .����  !-�# �� ���!" ��&�� '-!�!� � 2G6)
���  !-(� �!���" @ ��(�/� ���!-�) ���-�"%-' �"� ��� % = �$� ���(��
� �! ��� ! �*�� ����-!)  � ��(�� �(��! % ��"%��� .�� & � �� ��"���/
���!�"���� $"�,!"%��# ��::'��� ��� "0,�� ��!*���� �!�!�� �! ����
�'+���&� ���"����!��&� � = �� �!��!�"���� � ����&+��! �!� �&+!&
�!,� !�

� �	��
�

��,�!��!& ����"% &�"&� �& ��'������ � �,�!(����� � -!����*��
�-�� ���������� ��#� ��� p � :!�! x

p = p + Kf(x) , x = x + p mod 1 . (2.1)

>���% K = ε > 0 � �!�!�� � ����'+���& .�� �,&�! �"%�� �!"�#/) !
9��"!9f(x) ���� :���' !� ������ ��*��# .f(−y) = −f(y), y = x−1/2/
-'��*���"���#��# 9��"�9� �������� 3�

J� ,'��� ���"����! % ��!�' 8�"�� ����#� �� ��"��,�!���� ����'+��
��#� .��� ����3 � 23@6/

f(x) =
{

2x/(1 − d) , ��"� |x| ≤ (1 − d)/2 ,
−2y/d , ��"� |y| ≤ d/2 ,

(2.2)

����&
>�?�
� �
 �� ������?�
� �
��&� � @�A

@



$�� y = x−1/2) ! 0 ≤ d ≤ 1 � �!�� �&��� ��(�' 9�',%&��9��"� |f(x)| = 1)
�!���"�(������ �  �*-!� y = y± = ±d/2� �!�,�"�� ��'*����# *!� ��#
�"'*!# ���� ��� �� � �'� ��!*���0 �!�!�� �! ����-��! d = 1/2�

�!� �� ����'� $"�,!"%�!& ��::'��& �� ���'"%�') -� ��!& ���!��
"&� �& ���!��!� ���� -������) ���0+��� ��"�'0 ��� &(����� % ��
:!��� J� �!���!�� �� $"�,!"%���� � � �!"%��#1�� ,'��� ��� % ����'
 �"%-� ��) ��"� = � �� �$������� ���8�!"%��� >!�� ��) * �  !-�� ���
�!��!� ��� -����� .�  �� *��"� ���!��'1����� ���!�! ���� 8�"�� �
���,��� �����!����/ ��� ���8�!"%��� ��!*���&� K ���0 ��� � �"&
"0,�# ��"�*��� �!�!�� �! ����-��! �� �� ���!"! 0 < d < 1 2G)34�3@6�

7�� 0 < d < 1 ��"! .4�4/ ��(� ,� % ����� !�"��! ����� �&��� ;'�%�

f(x) =
∑
n≥1

fn

nβ
sin(2πnx) , (2.3)

$��

fn = − 2
π2

cos(nπ) sin(nπd)
d(1 − d)

, β = 2 . (2.4)

�� ���"����� :���'" �����"%��� ��������� �"& �!������# ��"� d → 0
��"'*!��

fn = − 2
π

cos(nπ) , β = 1 . (2.5)

�����) * � ��-!�! �"% $"!�-�� � ��� ��� β � �����"� d = 0 �! �����8'
���%1� �$� ��!*���& ��' �� �� ���!"! � �,! ��� ���%1� -�� �*��-�# ���
"�*��� βcr = 3 .� ���# �����" d → 1 � �!���# �!,� � �!� �� �� ����'� )
���-�"%-' ���(���� ��� = �� � !���� �& ��$'"&����) ��� 23@6/�

� �,�!(���� .4�3/ ��(� ,� % ����� !�"��� � ���� ����������# ���
� ��� � $!��"% ���!���) &��� �!���&+�� � ������� � � ����'+�����
� :����  �"*-�� 23)4)5)3I6K

H(x, p, t) =
p2

2
+ K

∑
n≥1

fn

2πnβ+1
cos(2πnx)δ1(t) , (2.6)

$�� δ1(t) = 1+2
∑

m≥1 cos(2πmt) �,���!*!� δ�:'�-8�0 ������! 3� � ���
 ��) * � ��,�� δ�:'�-8�� � '-!�!���� ���� :�-���'�  !-(� �����8'
������� ����������# ��� ���) -� ��!& �!��! ����# � ��!8�� �������$�
� �,�!(���&�

�!(��� �� �"!$!���� ���#��# �'��� � .4�C/ ������8���!"%��
cos[2π(nx − mt)] � 8�"��� m, n � ������"&� 9���#9�����*��# ��"���#�
��# �����!�� .�����,��� � ���) �!������) � 236/� � ������"�(����) * �

C



= � �����!��� �� ��!�����#� �'0 ��'$ � ��'$�� "0,�# �� ��� ������
�!� �& $!��"% ���!��� 9�!& ��-!9

Hnm(x, p, t) =
p2

2
+

Kfn

2πnβ+1
cos[2π(nx − mt)] . (2.7)

	�"� ���� � �����!����� ��!*���� ���'"%�! pnm = ẋnm = m/n)  � � ���
��� ���������� x̃ = nx−mt � p̃ = (p−pnm)/n -!(��#  !-�# �����*��#
�����!�� �-!���!� �& -������! ����# ��� ���# �� � ��$� �$�!��*����
�� ���'"%�' ���(������ �����!+!&�% - � !��� ����������) ������"&�
�� *!� � ' :!����� -�"�,!��#

Ω2
n =

2πKfn

nβ−1
(2.8)

� ��"�'0 1����' �����!��! �� ���'"%�'

(δp)n = 4

√
Kfn

2πnβ+1
. (2.9)

� �"��'0+�� �!���"� ����������� ����% ��� ��1���& ,'�' ����"%���
�!�� �"& ��"'*���& ���%�! ���� �� � ���(��!��� !--'�! ��� �8���-
�-���� � ��::'��� �"& $"!�-�$� � �,�!(���& ,�� ���!��!� ��� -���
����

� 
����� ��	�	��� ��������

�!1� �8��-� �����!�� �! -�� ���� ����-�� �& ��"���#��� �����!����
.��� 23�5)@6/) -� ���# � ���� �#1�# :���� ���� ���

P ∼ 1 , (3.1)

$��

P ∼
∑
n≥1

n(δp)n = 4

√
Kf0

2π
S, S =

∑
n≥1

n(1−β)/2 (3.2)

�� % ���,"�(���!& �'��! 1���� .4�G/ ���� �����*��� �����!���� � ����
��*��� �� ���!"� �� ���'"%�' p .�"& ���� � � �� ��"�(�"� ) * � ���
-�=::�8��� � ;'�%� fn = f0 �!���/�

��!�' (� � �� ��) * � = ! �'��! �!����� �& ��� β ≥ 3) * � � �������
"&� '-!�!���� ��1� ��!*���� -�� �*��-�# $"!�-�� � βcr = 3 � �!���! �
���!���� ���,"�(����� � = �� �"'*!� $"�,!"%�!& ��::'��& ��������� 

D



��� "0,�� K) �  �� *��"� � ��� K → 0) ! �� �-���� % �!���� ) ���,+�
$����&) � ���� �����!���� .4�D/ � ������!� �& ���%�! �"�(���� � $���
����-��� ���!(���&�� .��� 23D6/� �!1� ���� �� �8��-� ��(� �����!��)
-!- � � 2@6) �! �"��'0+�# $��� ���) -� ��!& ����� !�"&� �& �!� :���*��
�-� ��!�������,��# � ��� ���(�!� �& ��(� *��"������ =-�������� !�
��� ���-�� �� �� ������"!$!��) * � �����&& �-���� % $"�,!"%��# ��:�
:'��� ��� β ≤ 3 ������"&� �&) � ��������) -���*��� *��"�� �����!����
��"� % �� ��-� ���# -�� �*��-�# $!�����-� n = nc) -� ���� .� -��,��
�!8�� � �!����� ��!*���&�� m � .4�D// � �,����*��!0 ����-�� �� .5�3/�

�#� �� �"%��) ,�"�� ��"%��� �����!��� .n < nc/ �����!0 ,�"�� ,��
� �'0 ��::'��0) ���!-� ��! &�"&� �&  �"%-� "�-!"%��# ����! ����"��$�
����-�� �& = �� �����!����� � ��'$�# � �����) ,�"�� �"!,�� �����!���
.n > nc/) �� & � �,����*��!0 ����-�� �� � ��,� -��) ���!-� �-���� %
��::'��� �! ���

D =
(δp)2

t
∼ (δp)2n Ωn

2π
(3.3)

,�� �� �!�!� � n� >���% � -!*�� �� ���!��*��-�� �!�1 !,�� ��::'���
��,�!�� ��"�!& 1����! �����!��! .4�G/ � ������ :!����� -�"�,!��# �!
��� 2π/Ωn .4�E/�

>!���&& � .5�4/ �'��' ���,"�(���� �� �$�!"�� �� n � 1) ��"'*!��

S ≈ 2
3 − β

n
3−β
2 . (3.4)

�� .5�4/ ����� -�� �*��-�# $!�����-� �!���

nc ∼
[

π

32
(3 − β)2

Kf0

] 1
3−β

. (3.5)

�!-���8) �"& �-���� � ��::'��� �� .5�5/ �!�����

Dβ<3(K) ∼ 4
√

2π

π2

(
32

π(3 − β)2

) 3β+1
2(3−β)

(Kf0)
5

3−β . (3.6)

� �,+�� �"'*!� = � ���!(���� �!� "�1% �8��-' �� ���&�-' ���
"�*���� ���!-�) �� ����! �"%�� �� !�"&�� � ��� �!�"�*��� *��"�����
-�=::�8��� �) �!��*� ��!& �'+�� ����� '"'*1� %  �*��� % = �# �8���
-� �' �� �������& =�����*��-�� ����!��*��� ���(� �"�#� B � ,'�� 
���"!�� � �"��'0+�� �!���"� ��� �!���� ����� ���� �$� � ����1� ��'�
*����$� '(� �!��� ������!  !-�# ��::'����

E



� �� ��) * � ��� ��"'*����� �8��-� ���!���"���  �"%-� ��� K 	 1�
B � ��&�!�� �  ��) * � ��::'��& � �!���! ���!���# ��� ��� ���� ) -!-
� ��*!"��% ��1�) ��! ���!��*��-�� �!�1 !,!K

(δp)c ∼ 4

√
Kf0

2πnβ+1
c

∼ K
2

3−β <∼1 (3.7)

�� ���'"%�' .4�G/ �

tc ∼
√

2πnβ−1
c

Kf0
∼ K− 1

3−β >∼1 (3.8)

�� ������� .�� .4�E//� �,! �!�1 !,! �$�!��*��� ����! �������*��� �
p � ���-�� ��� � t� � �0�!) -!- �"��� ���) �$�!��*���� �� �!�!�� �'
��� ���K

K<∼1 . (3.9)

�� (� �!��� �$�!��*���� �����-!� � �� '�"���& �! -�� �*��-'0 $!����
��-' .5�@/K nc>∼1� 7�� K 	 1 ����& �! '�!��& -����"&8�# ����'+���&
tc � 1) ��� K ∼ 1 = � ����& ��-�!+!� �& �� tc ∼ 1) ! ��� K � 1 -���
��"&8�� ��(�' ���������  �"*-!�� � !���& �& ���,+� �����,��(���
�!"���� � ���"����� �"'*!� �-���� % ��::'��� ������"&� �& ���� �
������-�!��! �*��� ����'+�����

DK→∞ = K2

∫ 1

0

f2(x) dx =
K2

3
(3.10)

� �"& ���$� �!1�$� ����#� �! � �,�!(���# .4�3/).4�4/ �� �!���� � �!�
�!�� �! ����-��! d�

� ���
����� ������������ �
� �	��
� ���

������������ ������

�!���� ��� ��!*!"� ���� �#1�# ������ $"!�-�$� 4A�� �,�!(���&) -��
 ���# ��� �� � �'� � �!1�� ����#� �� .4�4/ �!�!�� �' d = 0� � 23@6
��-!�!��) * � � = �� �����"%��� �"'*!� ���!��!� ��� -����� ��"���
� %0 � �' � �'0 � $"�,!"%�!& ��::'��& ��������� ��� "0,�� ��"��
(� �"%��� K > 0� 
�::'��& �  !-�# ����"� ,�"! �����,�� ���"����!�!
*��"���� � !�!"� �*��-� � ����"%�� � !��# �!,� � 23D6) !� ��� -� ���#)
����������') �� ��!"� � ��"'*����� -  ��' ������� ���'"% ! !� F'"� !

G



2G6 � �� ��' �� ��!�!"��% ��-!-�$� 9������!9����� ����!���1���& ���!�
�! ���L �� �����"�� >!�� ��) * � ��������-� -!- �-���� � ��::'���)
 !- � �!�!�� �! ����'+���& K � = �# �!,� � � ' �!� �!�"�*!0 �&) ���
= ��' ��(� ������& �& �!���� �� �!,� � 23D6) �����*� !���� - �!1�#
����"��

7� :���'"� .5�C/ � β = 1 � f0 = 2/π .��� .4�@// ����� Dβ=1(K) =
0.84K2.5)  �$�! -!- ��"'*����# � 23D6 *��"����# ���'"% ! .���"� �����
�*� !/ �!���

D1(K) = A1K
B1 = CDDβ=1(K), A1 = 0.568± 0.0034, B1 = 2.494± 0.0008,

(4.1)
$�� ����!��*��# -�=::�8��� - �-���� � ��::'��� CD = 0.68� � �!"%�
��#1�� �� ������!�� B1 = 2.5)  !-(� -!- = � ���"!"� !� ��� 23D6 ���
��!������ �� ����#  �����#�

7���!�-! CD - �!1�#  ���� �*��-�# �8��-� ����"�-!) ���!-� ��!
�*��% ��"%�� �!���� � ��-!�! �"& $"!�-�� � β� �,�'��� = � �! ������
�� β = 2� �� .5�C/ ����� Dβ=2(K) = 1199K5) ! �!1 *��"����# ���'"% ! 
.��� .@�3/ � ����4 ��(�/ D2(K) ≈ 0.8K5� ��!������ = �� *���" �!� ���
��!��*��# -�=::�8��� CD = 6.7×10−4 .M/) * � "�1!� �$� -!-�$��"�,�
�!�'���$� :���*��-�$� ����"!�

��� ��"� �-!���!� �& �  ��) * � $"!���� ���,"�(���� ��� ��� ���
���� �8���- ��&�!�� �� ��������� ����� �� �-���� %0 ��::'��� D) !
� �����(' �*��� ���'"% ! �� ��� :���'"����-� '�"���& ����-�� �&
�����!���� .5�3/).5�4/� �  !-�� ���� = � '�"���� ���$�! �����8����!� =:�
:�- ����-�� �&) ���-�"%-' � ��$� ����& �!-���!"%��� 1����� ���!�
�! ��� �����!����)  �$�! -!- �! ��"� ���!�! ���� ��$' ��� % ��!�����
����$� �� :!��� 
"& '*� ! = �$� �!(��$� �,� �& �"%� �! �"��'� ���� �
CD ���� � ��'$'0 ����!�-' Cs � ����

P = Cs > 1 . (4.2)

�'+�� ����!& �!���8! � ����!�-�# CD � .I�3/ ��� �� �  ��) * � ���!&
����!�-! Cs ������� �& � ��-� ��'0 � ����%) -� ��!& �!���� � β �
��(� ,� % ���%�! ,�"%1�#K

Dβ<3(K) ≈ 4
√

2π

π2

(
32

π(3 − β)2C2
s

) 3β+1
2(3−β)

(Kf0)
5

3−β . (4.3)


"&  �$�) * �,� ��"'*� %  ����% CD ≈ 1 �"& �,�'(�!���$� �"'*!& β = 2)
��� ! �*�� ��& % Cs ≈ 2.84 .��� .@�3//) * � ��-!���!� ����-'0 =::�-�
 ����� %  !-�$� �����,! �������& =�����*��-�# ����!�-� � �8��-� ��
���&�-' ��"�*����

3H



���!-�) �"& ��'$�$� ��!*���& β = 1 ��� �� � �'0+!& ����!�-! ��!�
*� �"%�� ���%1�K Cs ≈ 1.2� 7��*��! = �$� -��� �& � �!���� �"'*!� �
 ��) * � ��� β = 1 ���- � ����'+���& �����(� ��� $!�����-�)  �$�!
-!- ��� β = 2 �� !0 �&  �"%-� ��*� ��� $!�����-�� � ���'"% ! � �'��!
.5�4/ '���%1!� �& � ��! �!�!� B � ����"�� �"%��# =::�- "�$-� '*�� %
� .I�5/ �!����# Cs → 2Cs� ���,�����!& ��"�*��! ����!�-� �"& β = 2
���(!� �& ��� = �� � 4�EI �� 3�I4 * � '(� ������ ,"��-� - '-!�!����'
��1� ��!*���0 Cs ≈ 1.2 �"& β = 1�

�������� ���'"% ! � ���"����!��& ���� �#1�# ����"� � d = 0 �����
� !�"��� �! ����3 ���� � � �!#�����# � 23D6 ���$���*��# ��&��# .I�3/) -��
 ��!&  !-(� ���"��� ������!� �& �!1�# ���� �#  �����# .I�5/ � ��,�"%�
1�# ����!�-�# Cs = 1.2� �,! ���!(���& ����1� ��$"!�'0 �& � =������
*��-��� �!����� ��"� % �� K ∼ 1) $�� ��������� ������� - ��(��'
.5�3H/�

���� 3K �-���� % ��::'��� D(K) � ����"� .4�4/ � �!�!�� ��� d = 0
.,�� ���!��!� ��� -�����/K �!���� 23D6 . �*-�/L �!1� �!���� .-�'(-�/)
������� �� 4@H  �!�- ���&� �� �"'*!#���� �!*!"%���� '�"���&�� ��
t0 = 4×107 � ��!8�# -!(�!&� ��"�1�!& ��&�!& � � �����!& �!������� %
.I�3/) �'�- ���!& � �����"%��# ��(�� .5�3H/�

� 23D6 *��"����� �!���� ��!����!"��% � ���%�! �"�(��#  �����#
!� ����) -� ��!&  !-(� �����!�! �! -��8��8�� ����-�� �& �����!����
. �*���) �� �!��'1����� ���!�! ���/) �� ��� ���'� �!  �*��� ���'"%�
 ! �) ! �� ���� � �8��-� �� ���&�-' ��"�*���� 
�#� �� �"%��) � = �#  ��
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���� �� ��-!-�� ���$���*��� �!�!�� ���) ���!-� :!- �*��-� ��� �$�
�' !& � �� ����+%0  �*��� % ����"�-! .∼ 10%) ��� ����4 � 23D6/� F�"��
 �$�) = !  ����& � ���� �& �! �!��� ��"� - -!*�� ����� ��'$�# ����"�
� ������������	 $!��"% ���!���) ���-�"%-' � �$� ;'�%���!�"�(����
���$�! ����!�&� �& .�� ���,������� � M/ "�1% -���*��� *��"� $!�����-
n� �!-�� 9�,���!���9���- �! �������(�!� �& ��&�"����� �!�!- ����$�
�"& !�!"� �*��-�� ��� �� ����$! �����-������& $"�,!"%��# ��::'���)
* � �$�!��*��!� ���������� = �#  ����� � �!�,�"�� �� ������# �,"!�
� � �!"�� ��!*���# �!�!�� �! K<∼Kc(n)� � ������� 23D6 .���  !� ����4/
nc = 21 � Kc ∼ 0.02 .� �!1�# ��������-�/� 7� ���!����' = � ����(�
�! �$�!��*���� -�� �*��-�# $!�����-� .5�@/ � �!1�#  �����) ���!-� '
�!� = � �$�!��*���� �-!���!� �& ��!*� �"%�� �&$*�� �!-) ��� nc = 21 �
Cs = 1.2 �����!"%���

K ≈ Kc(nc) ≈
(

πCs

4nc

)2

≈ 0.002 , (4.4)

 ��� �! ���&��- ���%1�) *�� � 23D6�
7���#���  ����% - �!�,�"�� �� ������# *!� � �!1�� ���"����!��#)

-�$�! �!�!�� � ����-��! ����"� .4�4/ d 
= 0� � �!,� � 2G6 ��-!�!��) * �
�'+�� �'�  !-�� -�� �*��-�� ��!*���� �!�!�� �! ����'+���& KB) * �
��� K > KB .$"�,!"%���/ ���!��!� ��� -����� � ��� ��� �� � ��*���
���!(���� �"& KB � �!1�# ��������-� ������!� ���

KB(d) =
2d2

1 + d
, 0 < d < 1 . (4.5)

��$"!��� 2G�3@6) ���� �&) ���,+� $����&) �*� ��� ���(�� �� ���8��
!"%��� ��!*���# K ≤ KB) ��� -� ���� � ��� ��� � '�"���&� ��"%��$�
"�-!"%��$� �!��! �,�!�'0 �& ���!��!� ��� -������

N"!��!& ���,"��!) -� ��!& ,�"%1� ���$� �� ����'� �!� ����%K -!-
��"%�� �!"�*�� = �� ���!��!� ��� -����� ,'�� ���!�"& % $"�,!"%�'0
��::'��0 ��� �������"%��� ��!*���&� K ����� �& �!  �) * � ���!
���(�� �! ���8�!"%��� ��!*���# = �$� �!�!�� �!) -!- � ����& ��� %
�"'*!#��$� ���!�!��& � ��$�) �!��� �'"0O

 !	���
���� �������� "������
�����"

������������� �������

�!���� ��� ���(�� ���$� �!�,�"�� ���"����!���# ������ ����#� �!
.4�4/ � �!�!�� ��� ����-��! d = 1/2) �"& -� ���$� ���'"% ! � �!1��
*��"����� =-�������� �� ��������� �! ���'�-!� 4)5�
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���� 4K 7����� ��::'��� � $"!�-�� � �,�!(���� � ���!��!� ���� -���
���� �'"���# ����K ����"% .4�4/ � �!�!�� ��� d = 1/2L @H  �!�- ���#L
����& �*� ! t0 = 2.5 × 106� ��"�1�!& ��&�!& � D2 = 0.8K5 �� .@�3/�
7'�- ���!& ��&�!& � �����"%��# ��(�� .5�3H/�

���� 5K �!� &�' �� �� K ���,�!(���� *!� � �,"!� � :�!- !"%��# ��:�
:'��� � ���!��!� ���� -������ �! ����4� 7!�!�� �� �*� !  � (� -����
������� �*� ! t0 = 4×107 �"& ,�"%1��� �!  �*�-� 
"& ��-� ���� �� ���)
�-"0*!& � -�!#�00 "��'0 � K = 0.294) ����& �*� ! t0 = 109� N"!�-!&
-���!& � ��!��# *!� � ���'�-!) ��� �����!& �� .@�@/) !����-�����'� 
$�!��8' �������# ��::'������# �,"!� ��
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7�� ���������� ��*��"���# ���% �� ���!" �*� ! �� ������� �!�,��
�!"�& �! *� ��� �!���� *!� � � ��"�*��! �-���� � ��::'��� ���!�!�
"!�% � -��8� -!(��# �� ���� 7� = �# ���*��� �! ���'�-!� 4�@ -!(���'
��!*���0 K � ��*!0 � �,+�� �"'*!� *� ���  �*-�� �� �!���"�(����
�� ��� �-!"� �����"&� � "�*� % ��::'������# �"'*!# � ����::'���
����$�� 
"& ���"����$� �!�!- ���� ',��!��� �-���� � ��::'��� �� ����
����) * � ������� -� ��!�����' 9�!�,�$!��09= ��  �*�-� � ��::'���
����� �"'*!� �!�,���  �*�- �!�!- ����'�  �*��� % *��"����� ��!*���#
�-���� � ��::'���� � �,"!� � ,�� ���!��!� ��� -����� = !  �*��� %
���"�� '���"� ���� �"%�! .∼ 10%/ -!- � �"& d = 0� ���!-� � �,"!� �
� .��� '!"%����/ ���!��!� ���� -������ � �,"��� ��� .��� K ∼ KB/
�1�,-! '��"�*��!� �& � ��� �$!� ���$�! :!- ��! 4� �!-�$� (� ���&��
-! � ��� ��! �*��-�� '���%1���� ������# �-���� � ��::'��� �! �*� 
��=�$���*��� � ���(���& � = �# �,"!� �� 7��"����� ������� - �,�!���
�!��0 '� �#*���# -������� � ���(���& �*��% �"�(��# � �'- '�� . !-
�!���!��!& -�� �*��-!& � �'- '�!) ��� �!������) 2@6/� 7�-! * � �!� ��
'�!"��% �'+�� ����� '��"�*� %  �*��� % ������"���& �-���� � ��::'�
���) ���!-� �!� -!(� �&) * � �"& �����!�� �"%��� �!���� �, �,+�#
� �'- '�� ��::'��� � �!���! ���!���# ����"� = �$� ��� ! �*���

>�!*���� d = 1/2 ����� ������ .-���� �����"%��$� d = 0/) -�$�! �+�
�����(�� '���+���� |fn| = const � .5�4/) -� ���� �'+�� ����� �,"�$*!�
�  ���� �*��-�# !�!"�� *��"����� �!����� 7�= ��' ��� ��1���� .I�5/
��������� � |fn| = 8/π2 �"& ��*� ��� $!�����- � fn = 0 �"& *� ��� ���
β = 2 � ����!�-�# Cs = 2.84 .��� .4�I/ � ������'+�# �!���"/) ��  �"%-� �
�,"!� � ,�� ���!��!� ��� -����� � ���!���"��� � ���%�! �$�!��*�����
�� ���!"� �!�!�� �! ����'+���& .��� ����4/K

D2(K) = 0.8K5 , 0.4 <∼K <∼ 0.8 . (5.1)

�����&& $�!��8! ������"&� �& ����% ����1� ����� ��� ��������� - ����
��"%���' ��(��' ��::'��� ,�� -����"&8�# .5�3H/� �'+�� ����� �����
="���� �� ��::'������# -!� ��� &�"&� �& ��(�&& $�!��8!) ��&�!��
�!&) �*������) � ��&�"����� ���!��!� ��� -�����) -� ���� � ���!�"&�
0 ��::'��0� ��$"!��� .I�@/) ��� d = 1/2 ���!��!� ��� -����� ��"���
� %0 � �' � �'0 ���

K > KB

(
1
2

)
=

1
3

. (5.2)

���!-� ��"%��� ���!�"���� ��::'��� .-!- = � ����1� ����� �� ���'��
-�� 4)5/ �!*��!� �& ��!*� �"%�� �!�%1�)  ��� � �,"!� � .�� K/) $�� ���
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�!��!� ��� -����� :!- �*��-� �� M � �0�! �!1 ����#  ����� 9����
 '!"%�!& ���!��!� �!& -���!&9� ����� �"��!��) -!(�!& ��!"%�!& ���
�!��!� �!& -���!&) -� ��!& �,�!�'� �& ��� ��-� ����  �*�� ������"���
��� ���8�!"%��� ��!*���� K = K0) �! �!��� ��"� �'+�� ����� ��-!(!� 
� �'- '�' :!����# �"��-�� � ��� ��� � ��-� ���# -���*��# �-��� ���
� � K0�

������� �"& ��� ��� .4�4/ � d = 1/2 ��::'��& � �-��� ��� � �����
� �����# ���!��!� ��# -����# < ���!��'1����# ���!�! ���� 8�"�$� ���
���!��!) �,�!�'0+�#�& ��� K = K0 = 1/8 � ���"����!"!�% � �!,� � 2356�
7�����) * � ����% ,�"� �,�!�'(��� � ���-!& ������� ��& ��� K > K0 �
��� K < K0�

7�� K > K0 ���!�! ���! �!*��!� ����'�-! % ��'$��  �!�- ����) ��
������� ����& .*��"� � ��!8�#/ < Tc > �����(����& �����!��! �!���� 
� ��"�*��� �!�� ��#-� K − K0 > 0� 
"& ��&�����& = �# �!������� �
� �� ���!"� 1.25 · 10−7 ≤ K −K0 ≤ 1.25 · 10−5) $�� �� ��'$�� ���!��!� �
��� -�����) ,�"� ����"���� �"��'0+�� ��������&� � �,"!� � ��(�'
��'�& ��������� 8�"��� �����!��!�� .��� ����I � 2356/ �!�'�-!"��% 3HH
�"'*!#��� �!� �*��-��  �!�- ���# � :�-�����!"��% ����& Tc �����$�
��&�"���& -!(��# �� ��� � �,"!� &� "�,� ��(� ��(��$�) "�,� ��1�
������$� �����!����� 
"& �,"�$*���& ��!�����& = �� �!���� � ���'"%�
 ! !�� �!� �&+�# �!,� � �� �������� ��(� ���!(���� �"& �-���� �
��::'��� K

Dc(K) ≈ 1/ < Tc >= 0.089 (K − K0)1.193 , K > K0 =
1
8

. (5.3)

� ��1���� Fex = D2(K)/Dc(K)) $�� D2(K)) ��$"!��� .@�3/) ������"&� 
�-���� % ��::'��� � ������"�(���� ��"��$� � �' � ��& � ��� ��� ���!�
��!� ��� -�����) &�"&� �& -�"�*�� �����# ����# ���!�"���& ��::'�
���� �!������) �� ���� �,�"����!���� ��!�!���� K−K0 = � -�=::�8��
�� �����&� �& � IHHHH �� 4HH �!�) * � ����� �"%� �'� � ��!*� �"%���
���!�"���� ��::'��� .���  !-(� ����4 � 5/�

>!,�$!& ������) � �� �� ������"����� ����� �� :���'"� .@�5/ � :���
�'"� .@�@/ �"& $�!��8� �������# ��::'������# �,"!� �) - -� ����' ��
�+� �������& ��(��

7�� K < K0 � �-�"% '$���� ,"��-� - ���!�! ���� �,�!�'(�"��% ����
$� $'� � �!���"�(����� ���!��!� ��� -�����) �!"�*�� -� ���� ���"!�
"� ��!- �*��-� ������"������ ��������& ������� �����(����& �����
�!��!� ������ � ��::'��� � = �# �,"!� � �� !"�& ,�� � �� !�

��� = � ����"%�� ���� �� �!,"0����& ����� !�"&� �& �!� � �!�,�"��
��!*� �"%����) ���-�"%-' ��� ������"���� '-!���!0 �!  �) * � �'"��
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�!& ���! ���(�� �! ���!��!� ��� -����� � �!(� �� -���*�!& �"� �
��� % �� ����& � �'0 ��"%���' ���!�"���0 ��::'��� � �!���! ���!�
���# ����"��

�"��'0+�� �� ������� � �!(��� �������� &�"&� �& -�"�*�� ����
�!& �8��-! ���!�"���& ��::'���� 7�"��� ���!�"���� �����(��) ���
�������') "�1% ��� ���8�!"%��� ��!*���&� K0)  ���  �"%-� �"& ��!"%�
��� ���!��!� ��� -������ � �,+�� �"'*!� ��� �!���� � �� � �'- '��
� ���� �!�� �� �!�!�� ��� ��� ��� (K, d)� � �'- '�! = ! ����� !�"&�
� �& �*��% �"�(��# � &�"&� �&) ����������') :�!- !"%��#� � *!� ���
� �) ��! �-"0*!� � ��,& � 8�"�� �,"!� � -���*��# 1����� ,�� ���!�
��!� ��� -������ ���! ��  !-�� �,"!� �# 0.2295 < K < 0.2500 ,�"!
�����-!�!�! � 2G6 � ����1� ����! �"��! �! ����4� �! $�!��8!� = �# �,"!�
� � �-���� % ��::'��� ���-� ',��!� )  !-(� -!- � �! �������# $�!��8�
K = 1/3 .@�4/ � = � ������� - ���!�"���0 ��::'��� �!(� � �!-���'���
P����! �,"!� � ∆K ≈ 0.02) ! :!- �� ���!�"���& ��::'���

Fex =
D2(Kmax)

Dmax
≈ 14 . (5.4)

>���% Dmax ≈ 4.6 · 10−5 � �!-���!"%�!& ��������!& �-���� % ��::'���
�,"��� 8�� �! �,"!� � Kmax ≈ 0.24) ! D2(Kmax) ≈ 6.4 ·10−4 < �(��!��!&
 !� (� ��$"!��� .@�3/ �-���� % � ������"�(���� ��"��$� � �' � ��& �
��� ��� ���!��!� ��� -������

N�','0 �8��-' Fex ��(�� ��"'*� % �� ��!�����& $�!��8� = �# �,�
"!� � � �������# $�!��8�# DB(K)) -� ��!& �� �!���� ����4 '���"� ���
�� �"%�� !����-�����'� �& ���!(����� ���! .�"��! � � ��"-�/

DB(K) ≈ 1
2
(K − 1/3)3/2 → Db(K) ≈ 1

2
(K − Kb)3/2 . (5.5)

B � *!� ��# �"'*!# ��� ���(�� �� �� ������ ������"�(���� �  ��)
* � -�� �*��-�� *��"� KB �� .I�@/) &�"&0+���& ��$�!��*��� �"& ������
��# �,"!� � ,�� ���!��!� ��� -�����) ����!�!� .�"� ,"��-�/ �  �*-�#
KD �! $�!��8� DB(KD) = 0 �������# ��::'������# �,"!� ��

7����� = �$� �� ��"!�� ������"�(���� .-� ����  !-(� ����� �� 
������� %/) * � $�!��8� ���� ��::'������� �,"!� �# ���' ��,& ����,�
��� �,�!��� � �� ��' ���!(���� � .@�@/ ���!�! � � ��"-� ���������
- "0,�# �,"!� � ,�� ���!��!� ��� -����� � "���# $�!��8�# Kb�

�� .@�@/ �!�����

Fth ≈ 2 · D2(1/3)
Db(Kmax)

≈ 13 . (5.6)
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>���% ���(� �"% 4 �!�!- ����'� �� ��:����8�0 ��'� $�!��8 �,"!� �)
-� ��!& '��"��!� ���!�"���� ��::'���) Kb ≈ 0.23 � Kmax ≈ 0.24 < "��
�!& $�!��8! � 8�� � ���"��'���# �,"!� �) Db(Kmax) ≈ 5 · 104 < ��::'�
��& � 8�� �� �,"!� �) ��"'*���!& �� '�!�����& $�!��8� .@�@/� �!-���8)
D2(1/3) ≈ 3.28 ·10−3 < ��*��"���!& �� .@�3/ ��::'��& �! $�!��8� ������
��# �,"!� � � ������"�(���� � �' � ��& ���!��!� ��� -����� .�� ����
��,��$"� ����% �!"�# ����!�-�# Kmax − Kb � ��&"�  �*�� K = 1/3/�

� �!���! ���!���� �"'*!� ����!����� ���������# .@�I/ �  ���� ��
*��-�# .@�C/ ��"�*�� �*��% ����1��) * � ��� ���(�!� ���"!���� ��1�
������"�(���� � ����,�� $�!��8 ��::'������� �,"!� �#� 	�"�) �� !�!�
"�$�� � .I�3/) ���� � ����!��*��# =�����*��-�# :!- �� CF = Fex/Fth ≈
1.1)  � �� �-!���!� �& '���� �"%�� ,"��-�� - �����8�� ���!-� � ���
 �� ��!�') * � !����-���!8�& .@�@/ $��� �&  �"%-� �"& d = 1/2 .���
��(�/) ! �� ���"�(���� - '�-�� ��::'������� �,"!� &� ���!���"���)
����������') "�1% �,"��� �������# $�!��8��

����% ���*��-��� '(� � ��*!�1���& ��1� ����� �� �!������� �#
.@�5/ �"& �-���� � ��::'��� Dc(K) �,"��� ����# ���!��!� ��# -����#
� .@�@/ �"& $�!��8� DB(K) �������# �,"!� �K ��� �,� ��  �"%-� � �����
���) �� � ��-!�! �"� �� � �����# �!�"�*!0 �& �� ��"%��� B � �!�"�*��)
�����(��) ��&�!�� �  ��) * � .@�5/ ��*��"&"!�% ��� K = 1/8) ! .@�@/ ���
K = 1/3�

�! ����4 �����  !-(� � ���-�"%-� ��'$�� ,�"�� '�-�� ��::'�������
�,"!� �#� � '��"�*����� ���� ��� ��-!�!�� � ��"%�� �! ����5) ���*��
=�����*��-��  �*-� ��������� "��!��# "����#) -� ��!& ����$!� �!��
"�*� % ,"��-�� '�-�� �,"!� �� � 8�� �!� = �� �,"!� �# ,�� ���!��!� �
��� -����� ��::'��&  !-(� ���!�"��!  �� ��"%���) *�� '(� �,"!� %�

"& 3D �,"!� �#) -� ���� '�!"��% �!�"�*� %) ,�"� ��������� ��*���
"���& �� :���'"!� .@�I/�.@�C/ !�!"�$�*��  ��') -!- = � ,�"� ���"!��
��1�� ������� �!���� ��������� �  !,"�8�) -'�! �-"0*���  !-(� ���
�������� ����!��*��� ���(� �"� CF = Fex/Fth� � ���"����# -�"��-�
 !,"�8� ����+��� 1����� �,"!� �#) ��*��"����� �� .@�@/ ��� ����"�
�� �"%���  ��,��!��� �,����*� % �!���� �� CF ≡ 1� ��$"!��� � =������
*��-�# �8��-�# ����% ��!*� �"%�� �'(�) * � �,Q&��&� �& ����������'
 �'���� %0 ������"���& 1����� '�-�# �,"!� � ∆K ��� �$�!��*�����
*��"� ����*� !���� ��!*���# �!�!�� �! ����'+���& K .��� ��(�/�

7��!�"���� ��::'��� ��� ���-�"%-�� ��!*���&� �!�!�� �! ����-��!
d ����� !�"��� �! ����I� F���!� �& � $"!�! ����,�� �!������� � D(K)
��� �!���� d) * � ����(�!� �!��(�' �! �����(��� % ��� ��� % ������
����!��� ��::'��� � ��-� ���� ,���!������� �����������
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�������� ����	
��� 
����������� ������
� �� �����

Kmax Dmax Fex CF 100 ∗ ∆K 100 ∗ δK
0.3322 9.9 · 10−7 3.26 · 103 1.99 · 100 0.080 0.051
0.3309 4.0 · 10−6 7.93 · 102 1.30 · 100 0.155 0.130
0.3282 1.0 · 10−8 3.05 · 105 1.20 · 102 0.060 0.003
0.3270 5.0 · 10−8 5.98 · 104 1.85 · 101 0.051 0.007
0.3240 1.1 · 10−5 2.60 · 102 1.65 · 100 0.382 0.274
0.3216 2.0 · 10−6 1.38 · 103 1.15 · 100 0.099 0.090
0.3204 1.0 · 10−7 2.70 · 104 5.58 · 100 0.039 0.012
0.3196 8.0 · 10−7 3.34 · 103 1.73 · 100 0.072 0.050
0.3178 2.0 · 10−6 1.30 · 103 4.01 · 10−1 0.051 0.094
0.3163 1.0 · 10−6 2.53 · 103 1.84 · 100 0.090 0.060
0.3146 4.0 · 10−7 6.16 · 103 1.58 · 100 0.045 0.033
0.3139 8.0 · 10−7 3.05 · 103 7.81 · 10−1 0.045 0.053
0.3130 5.0 · 10−8 4.81 · 104 2.04 · 101 0.063 0.008
0.3043 4.0 · 10−5 5.22 · 101 1.59 · 100 1.090 0.798
0.2978 3.0 · 10−7 6.25 · 103 4.05 · 10−1 0.018 0.033
0.2960 2.5 · 10−6 7.27 · 102 3.22 · 100 0.301 0.138
0.2941 4.3 · 10−7 4.06 · 103 2.00 · 10−1 0.0150 0.044

��������� �  �!��"�# Kmax	Dmax $ %�
�&� 
 ��'&()���� � ���
�� * +�,,($

'�� � "�� 
� �!��� �- Fex $ �'&�
���./ ,�� �
 %�+������� +�,,('��  �&

0�- CF = Fex/Fth $ �'&�
����� '�������	 1+� Fth �.�������� %� ,�
&(�� 23�45-

∆K $ �'&�
����� 6�
��� �!��� �- δK $ 6�
���	 %�
���� ����� %� 23�35 %
�

+�%���� ��*��&  
�!������ �!��%��� * 
����� �� CF ≡ 1�

� ������"�(���� KD ≈ KB .��� ��1�/ �"& ,���!������# ��"�*���
�!�!�� �! ����'+���& K∗ R� �� ����� ����& %

K∗ = K/KB =
1 + d

2d2
· K . (5.7)

�!��(����� � ���# ,���!������# ���������# D∗ ��&�!�� � ,�"%1���
 �'���� &�� ����!  �$�) * � &���� ���!(���� �"& :'�-8�� D(K) ��"'�
*� % �� '�!� �&) ���-�"%-' � �,+�� �"'*!� |fn| 
= const .��� �!���" 5/�
���!-� ���,"�(���� = � �����(�� ��� '�"����) * � !�$'��� ���'�! �
.4�I/ �!"� ��$�! sin (πnd) ≈ πnd � .��� .4�5//

|fn| ≈ nf0 , f0 ≈ 2
π

, β = 1 (5.8)

�����) * � �!������� % D(K) ��� d 	 1 ��"'*!� �&  !-!& (�) -!- � �
�����"� d = 0�
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���� IK �,+!& -!� ��! ��::'��� � ����"� .4�4/ ��� D ��!*���&� �!�!�
�� �! ����-��! d = 0.004, 0.008, 0.02, 0.3, 0.4, 0.5, 0.6 .�"��! �!��!��/�
���"�  �!�- ���# � @H �� 4@H) ����& �*� ! t0 = 2.5× 106 � ��!8�#� �!�
-"���!& ��&�!& � �����&& $�!��8! �-���� � ��::'��� .I�3/) ���  !-(�
����@ �  �-� �

���� @K �� (�) * � �! ����I �"& 5 �!����%1�� ��!*���# �!�!�� �!
d = 0.004, 0.008, 0.02 � ,���!������� ���������� .@�D/ � .@�3@/) "�$!�
��:� ���& �*��#� ����!& � =�����*��-!& !���-���!8�& �������# $�!�
��8� ��::'��� .@�3C/� �!-"����� ��&��� ��-!���!0 !���� � �-�
��::'��� ,�� ���!��!� ��� -�����K ��"�1�!& � .I�3/ � β = 1) �'�-�
 ���!& � .@�35/ � β = 2 � ���,"�(���� .@�3I/�
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B � ���,"�(���� .! ��!*� � !���� � �-! .I�3// ���!���"��� ��� .���
.5�@/ � β = 1/

K >∼K1 =
π4d2

16
≈ π4

32
KB ≈ 3KB (5.9)

� ��'$�# � �����) ��� �,�! ��� ���!���� �� .πncd>∼1, d 	 1, β = 2/
��(�� '������ % sin (πnd) � .4�I/ �� n� �!- -!- �'��! .5�4/ ������8���
�!"%�!

√
fn ∝ √| sin (πnd)|) ������ ����# �!�!�� �

S0 = 〈
√
| sin (πnd)| 〉 ≈ 0.76 (5.10)

� ��"�(�� .d 	 1/
f0 ≈ 2

π2

S2
0

d
, β = 2 (5.11)

��"���� '��������& ��(�� �!���! %  !-(� � ����K

K <∼K2 ≈
(

π2d

8S0

)2

≈ 2.6 d2 ≈ 1.3KB < K1 (5.12)

7�� = ��
D(K) ≈ A2 K5 , A2 ≈ A1

K2.5
cr

(5.13)

$�� ��!*���� A1 ,��� �& �� .I�3/) ! Kcr �  �*-! ������*���& ��'� !����
� � �-K .@�35/ � .I�3/� 7�"�(���� = �#  �*-� ������� �� � ��&���) -!- �$�
������"& %) ���-�"%-' ��� d 	 1 .� � "�*�� � �"'*!& d = 1/2 �! ����4/
�,"!� % ��::'��� � β = 2 ���� � � �' � �'� � ���� � �  ��) �,� $�!��8�
K1 � K2 ��� ! �*�� ,"��-� - KB � �� = �# ���*��� �"& !,�8����  �*-�
������*���& !���� � �- �� ���,"�(���� ������!��

Kcr ≈ KB . (5.14)

�  !-�� ���,"�(���� � ��'0 ,���!�����'0 ��������'0 � '*� �� .@�D/
� .@�35/ ��(�� ��,�! % � ����

D∗ =
(

1 + d

2d2

)5/2

· D (5.15)

� ��$� $����&) ���������� .@�D/ � .@�3@/ $��& �&  �"%-� �"& d 	 1) ���
-! ��(�� ��"%���! %�& ���� ��� !���� � �-!�� .I�3/ � .@�35/� ���!-�
�,+!& -!� ��! ����,�& ����!�&� �& � �� d ∼ 1) �� �� �"& d → 1�


"&  ��� ��!*���# d 	 1 �!���� �!1�� *��"����� =-�������� �� �
,���!������� ���������� ��-!�!�� �! ����@ ���� � � ��'�& !���� � ��
-!�� .I�3/ � .@�35/� N"!�-!& -���!&) -� ��'0 �  �'��� ��(�� ����"��� %
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� �"� ��# ��� ���  �*�-) ����� !�"&� ��,�# �!#����'0 �!�� *�� � =��
����*��-'0 '������!"%�'0 $�!��8' �������# ��::'������# �,"!� �

Dl =
5
2

Kl − 0.4√
Kl

, (5.16)

Dl = lg(D∗/A1) , Kl = lg K∗ ,

�!���!��'0 � ���& �*��� "�$!��:�!� ,���!������� �����������
� = �� ��� ��1���� ����"%���!�� ,���!������� ���������� .I�@/ �

.@�3@/) -� ���� '(� �����(! � ��,� ������"�(���� � �!���� �� -���
 �*��-�$� *��"! KB �  �*-� KD �! $�!��8� �������# ��::'������#
�,"!� �� 7����!�� �"%��� =-�������� � .��� ����5�@/ ��-!���!0 ) * �
= � ������"�(���� ��#� �� �"%�� ����"�&� �& � ����1�#  �*��� %0
.(KD − KB)/KB <∼10−3/� ���!-� �� ������# ������ �  �*��� �!���� ��
= �� �!�!�� ��� �� !� �& � -�� ���

� 2G6 ,�"! &��� �!#���! "�1% ���! �,"!� % ,�� ���!��!� ��� -�����
.��� ��1�/ � ���-!�!�� ������"�(����) * �  !-�� �,"!� �# ,��-���*��
���$� ��� K → 0� �!1� ���'"% ! � .����5/ &��� ��-!���!0 ) * � ���(��
� ��  !-�� �,"!� �# ���� �& � ��������� ����� �,"��� �������# $�!��8�
��::'���� �!(��� �������� &�"&� �& � ! �� �-!  !-�� �,"!� �#) ��&�
�!��!& � �!������"����� �-���� � ��::'��� �� �!�!�� �' ����'+���&
K �) ��� �� � �����) � �� ���!�"����� ��� '!"%���� ���!��!� ����
-�������

J� �����"� � ! �� �*��-'0 �,�!,� -' =-�������� !"%��� ��"�*��
-�=::�8��� ! ���!�"���& ��::'��� Fex �"& N = 134 ��!*���# �!�!�
�� �! K � �� ���!"� 0.293 < K < 0.333 1�����# ���$� ∆ ≈ 0.04 .���
����5/� 
"& ��"'*���& � ! �� �*��-� ��!*���$� �!������"���& P (Fex)
��� � �"% ,����# � ! �� �-� ���%�! =::�- ����� �-!���!� �& ����
8�!"%��# �� �� ��� �����& �� �$�!"%��$� �!������"���& � 9�"!�!0�
+�#91�����# &*�#-� .��� 23E6 � ���"-�  !�/� �,�*��  !-�# �� �� �!���
�!� �&  !-(� 9'���&��*���!& � ! �� �-! ���-�� ��,� �#9.STUV�WSXRSYUZ
[\T\Y[\Y�[ W] R^\SR_R R`RU\[/� B � =::�- ����# �� �� ,�" ������� �����
"�(�� � 3GIG $� � ����"%���!"�& � ���"����!��&� �� �! ��! �*��-�# "���
$��� �-� 23G6� �-!���!� �&) * � ��� ! �*�� ���� � �!���"�(� % ��� ��!�
*���& Fex(n), n = 1, 2..N � ������&+�� ���&�-�K Fex(n + 1) < Fex(n) �
 �$�! ��-���� �!������"���� ���,"�(���� �!���

P (Fex) ≈ n

N
, n = 1, 2, ...N . (5.17)

7�"'*�����  !-�� ���� �� �����,�� �!������"���� ���,�!(��� �!
����C� �!�,�"�� �� ������# �$� ���,�����%0 &�"&� �& *�����*!#�� ����
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���� CK 7����� =�����*��-�� ���'"% ! � �� � ! �� �-� -�=::�8��� !
���!�"���& ��::'��� Fex .@�I/ ��� '!"%���� ���!��!� ���� -������
�� �!���� �!1�� *��"����� =-�������� ��) ����� !�"����� �! ����5
.d = 1/2/� �!-"���!& ��&�!& � �� �$�!"%��� � ������� �!������"����
.@�3E/� 7�"��� *��"�  �*�- .��!*���# Fex/ �!��� 35I) �� -� ���� 3HH
"�(! � �������� �� ���!"� Fex < 3 × 105 .���  �-� /�

"����� ',��!��� ����& ��� � ��"%��$� ���!�"���& ��::'���K

P (Fex) ≈ 2
F 0.15

ex

, 100 < Fex < 3 × 105 = Fmax(t0) (5.18)

>���% "��!& $�!��8! ��&�!�! � �*��% �!"�� ���"����!���� �� ���!"��
K 1�����# ���$� ∆ ≈ 0.04� F�� ��� �!����� ����& ��� � P (Fex) ���
Fex > 3 × 105 �,Q&��&� �& �$�!��*����� �������� �*� ! .t0 = 4 × 107/�

�#� �� �"%��) ���-�"%-' ��$'"&���� ��8�""&8�� ∆p ∼ K ≈ 0.3)  �
�����!"%�!& �!,"0�!��!& �-���� % ��::'��� �-!���!� �& �!���#

Dmin ∼ (∆p)2

t0
∼ 10−9 , (5.19)

* � ����1� ����!�!� � =-�������� !"%���� �!����� �! ����5� 7��
���%1�� K = � �����'� ',��!� ��"� % �� D ≈ 10−17 ��� K ≈ 3×10−5)
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t0 = 4 × 108 .��� ����I ��1�/� �� ������ � �� � %) * � ���  !-�� ����
"����� ',��!��� ����& ��� � .@�3E/ -!- ������� ��!*���� Fex)  !- � �$�
��������& ������"&0 �& ��!*����� Fmax) � �!����& �& �������� ����
���8���!"%�� t0 → ∞ .��� .@�3G//�

��,�"%1�� � -"�����& =�����*��-�$� �!������"���& �! ����C � �!�
-��! .@�3E/ ��&�!�� ����������' � ������������ &�� �!������"���& ���
��"%���!���� ��!*���# Kn� � �!"%��#1�� ���"����!��&� = � ��(� 
,� % "�$-� ����!�"���) ���!-�  ��,'� ��!*� �"%��$� ������� �*� ! �"�
�'+�� �����$� ��-�!+���& � ! �� �-��

B�����*��-�# �!-�� .@�3E/ ��(�� ����"%���! %) � *!� ��� �) �"& !�!�
"��! �����& ��$� 9�!� ���!��&9 �!�- ����) �,�!�'(����$� � � !��# �!�
,� � 2D6 � �� ��� ��� �� ��"'*��1�$� �,Q&�����&� B � �"'*!#  !-(�
� ���� �& - � �,�!(���0 .4�4/ � d = 1/2) �� � ���-�"%-� ���# ������
���-� .-!- � 2G6/� � �!1��  �����1��� �,���!*���&� �� ��� �� � �'� 
K = 0.29 < 1/3 �) �"����! �"%��) �"'*!#�� ���!" � �,"!� % � ��� '!"%�
���� ���!��!� ���� -������� 7�� ������� �*� ! t0 = 3 × 106 �����
�!"%��# -�=::�8��� ��::'��� Dmin ∼ 3 × 10−8) * � ��� �� � �'� 
�����!"%���' :!- ��' ���!�"���& ��::'��� Fmin ∼ 105 � �!�'���#
����& ��� %0 P ≈ 36%�

���� � � ��"%��� ��!*���# Fex(n) ��(�� ��& % ��!*���& Fm .�� '��
��� �"� �,���!*���� Fex(m) → Fm/ �"& 8�� ��� ���� m = 1, 2, ...M = 17
�!�"�*���� � ����"����� �� ���!"� K = 0.293 − 0.333 �,"!� �# ��:�
:'��� .���  !,"�8'/� ��$�! ����& ��� % ,'�� ������8���!"%�! ������
���!���# �'��� 1���� = �� �,"!� �# dKm) -� ���� ������"&0 �& "��
,� =�����*��-� �� ����5 .∆K �  !,"�8�/) "�,� �����*� �� �� :���'"�
.@�@/ �� =�����*��-�$� ��!*���& :!- ��! ���!�"���& Fm .δK �  !,"�8�/�
��������-! ��������� �& �� ��"��# 1����� ���"����!���$� �� ���!"!
K �' �� �!���� dKm → dKm/∆) $�� ∆ = 0.04� �����  �$� ���,������
'*�� %) * � ��������!��!& �'��! 1���� ���� M = 17 ��::'�������
�,"!� �# S ≈ 0.664 �"& ∆K � S ≈ 0.468 �"& δK� � �,��� �"'*!&� ������
���� �'+�� ����!& �� ��& '�-�� �,"!� �# � ,�"%1�� F >∼104 .��� ����D/�
�-��*! �"%�� ��"'*!��

P (Fm) ≈ 1 − S +
M∑

i=m

dKi (5.20)

���'"% !  !-�# �,�!,� -� =�����*��-�� �!����  !,"�8� ��-!�!� �!
����D ���� � � �!����� ����C) -� ���� ����� !�"��� (����# ��&��#
.@�3E/� 7�� � �"% �!"�# � ! �� �-� ��$"!��� �,��� �� ���� ��(�� �*��
 ! % '���"� ���� �"%���� ���,���� = � -!�!� �& �!���� �"& δK .� ����
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���� DK �� (�) * � � �! ����C) �� �� 1����� 3D �!�"�*���� ��::'�����
��� �,"!� �# .���  !,"�8' �  �-� /K �!���� ����C ����� !�"��� (����#
��&��# .@�3E/L -�'(-� � �� �$�!"%�!& ����& ��� % .@�43/ �� ��������
��# 1����� ∆K ��::'������� �,"!� �#L -��� � �  � (� �"& 1�����
δK) �����*� !���# �� .@�@/L "��!�!& "���& � ��������!& ����!�-! CF

- .@�C/L 1 ������� $������ !"%��� "���� ��-!���!0 ��"0 9�� ��&��
���9.���!�"�*����/ �,"!� �# ��� ,�"%1�� F >∼104�

��"!� '���&�' �$� ��1� �$�!��*���& F <∼104/� � �� ��) * � ��� = �#
�,"!� �)  � �� % ��� F >∼104) $�� ����& ��� % P (F ) ≈ const �� !� �& ���
* � ��� �&���#) ������������ ���-� ����!� !� =�����*��-!& ����!�-!
CF .��� ����D/�


"& ∆K ��$"!��� �'(�) ���*�� �!,"0�!� �& �� ���� � �!�,���  �*�-)
! ��� ��! �*��-��) �� & � ��,�"%1��) � -"������� B�����*��-�� �!�����
��"���� �� !� �& ������(���' � ������� .��� ��(�00 �!-"���'0 ��&�
�'0 �! ����D/) �� � ���-�"%-� ���� ��-!�! �"��K

P (F ) ≈ 2.3
F 0.20

, 64 < F <∼ 104 (5.21)

$�� "��!& $�!��8! ������"&� �& ���� � �����!"%��� ��!*����� F � ���
�"����!���� �� ���!"� K� 7��*��!  !-�$� �!���(����& ������� �! �
 ��,'� �!"%��#1�� ���"����!��#� J� ������"!$!��) * � �!,"0�!����
�!���(����& ��&�!��) � ��������) � �����8��-�# =�����*��-�# 1����
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�� �,"!� � ∆K) ����!� !0+�# ���� � � F � �-���� ���$� = � ��������� 
��� ����-�� �� �������� �,"!� �#) -� ����  !-(� ����!� !� � F � ��
��&-�� �"'*!� �!���8! ��(�' =�����*��-��� ��� ��1���&�� .@�3E/ �
.@�43/ ��� !�"&� ���$� �-�"� 5Ha �� ��-!�! �"0 � 4Ha �� ����& ��� �
.� �����"!� ���������� � .@�43//) * � ������ ��  !- �"��� �"& �����!���
 �"%��� ���'"% ! ��� �!�'��� �&) ��� = �  ��,'� �!"%��#1�# ���%����#
������-��

� �� ��) * � '���&�' �� ��1� :"'- '!8�� �-���� � ��::'��� .�
�'�1�� �"'*!� � ��! �!�!/ ������& - ��������0 ����& ��� � .@�3E/ �
20.15 ≈ 1.11 �!�)  � �� % ���$� �! 33a�
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���"����!��� ����#� �! -'��*���"���#��� � ,�!(���#  ��! .4�3/.4�4/
���� �!��00 �� ���0 .���) �!������) 2D)G)33�3@)3D6 � ���"-�  !�/� �
�!� �&+�# �!,� � �� ����"%�'��  !-�� ���� �#1�� ����"� �"& ���"��
���!��& � ���� �"%�� ����$� � �!"� ����� ��$�) �� �*��% �"�(��$� &��
"���& :�!- !"%��# ��::'��� ��� ��#� ���� ��� '!"%��� $"�,!"%���
���!��!� ��� -����� � '�"���&� ��"%��$� "�-!"%��$� �!��!�
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-��� �'-8�#) -!- -'��*���"���#��� � �,�!(���& �!�"'(��!� ����!�
��&� �,�! ���& ����% - �!,� � 23D6) $�� �"& ��&�����& ���#� �  !-��
$� � �,�!(���& �!���! ���!"!�% �"�(�!& .� 43 ;'�%��$!�����-�#/ !�!�
"� �*��-!& :'�-8�& � � �� ���!��*��-�� ��������� ,�"� '� !���"���
������"����� ����� ��� >�!*� ) ��(�� ��� '�! % � �!�,��� � � �"'*!�
�"�(��# .�!������) � -�' ��� ��$�,!��/ ����������# !�!"� �*��-�#
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�"����! % ��� �� � �'0+�� � �,�!(����) * � �-!���!� �& �!���$� ����
+�� B � �!��!�"���� ����� !�"&� �& �!� ��� ! �*�� ������- �����) ��
 ��,'0+�� ���8�!"%��$� �!���� ����& � � �!� �&+�# �!,� � �� �� ,'�
��� � ��$� '$"',"& %�&�
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��� ����#� �� ����"�# .4�3)4/ ���$�! �'+�� �'� � ���� �"%�� 1���-!&
.������!&/ �,"!� % 9����!"%��#9��::'��� -!- � � ��'$�� $"!�-�� ���
� ��!� ,�� ���!��!� ��� -������ � = �# �,"!� � �!� '�!"��% ��"'*� %
���%�! ���� �� � ����"%��  �*��� �8��-� �-���� � ��::'��� .�!��� 5)
I/) -� ���� �'+�� ����� ����$"� ��� !�!"��� �������$� � �!� �&+�#
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���"����!��& ��������� � �� ���!"� �!�!�� �! ����-��! 0 < d < 0.6
.� ���!��!� ���� -������ ��� K < KB) ���.I�@//� �!��(�� '� !����
"���) * � �!"�*�� ���(�� �! ���!��!� ��� -����� .����� �& �!  �)
* � �$� ���! �!��! �'"0/ �����!� ��"%��� ���!�"���� ��::'��� ���
K < KB) * � � ��,'��"� �!� ����"�(� % ����#  ����� 9��� '!"%�!&
���!��!� �!& -���!&9�

�!�,�"�� �����,�� ��'*�� �"'*!# d = 1/2) �"& -� ���$� '�!"��% ���
"'*� % -�"�*�� ������ �8��-� ���!�"���& ��::'���� 7����!�� �"%�!&
�,�!,� -! =�����*��-�� �!���� �����"�"! ��� ��� % �� �$�!"%��� �!��
�����"���� .@�3E/ ����& ��� � -�=::�8��� ! ���!�"���& ��::'��� Fex�
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* � ������� ��!*���� Fex �!����� �& � '��"�*����� ������� �*� ! .���
�!���" @/� 7��������  !-(� �����,��� ���"����!��� ����� '�-�� ��:�
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��"�"� ��� ����� % �!(��# ���'"% ! .@�3E/  !-(� � ��'$�� �� ����
.��� .@�43//� 7��*��! � �"% ���,�*��# � ! �� �-� Fex .!) �"����! �"%��)
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�!"%��#1�$� ���"����!��&�
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� �"� ��# ��� ���# ���!��!� ��� -����� ����$� ���! � � �����1����
������� ��# �*��% ����$'"&���# .:�!- !"%��#/ ��::'���#�

� 8�"��) ��� = � ����� &�"���� ����� !�"&� �& �!� ��� ! �*�� �� ��
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